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SIMULATED ENGLISH TEST ONE

..............

ection 1 Listening Comprehension

N,
s

1 & Directions:

This section is designed to test your ability to understand spoken English. You will hear a selection of recorded
materials and you must answer the questions that accompany them. There are three parts in this section, Part A,
Part B and Part C.

: Remember, while you are doing the test, you should first put down your answers in your test booklet. At the end
of the listening comprehension, you will have 5 minutes to transfer all your answers from your test booklet to
ANSWER SHEET 1.

If you have any questions, you may raise your hand NOW as you will not be allowed to speak once the test has

1 started.
Directions:

You are going to hear a talk about a mother and her son. Listen to it and fill out the table with the information
you’ ve heard for Questions 1—5. Some of the information has been given to you in the table. Write only 1 word in
each numbered box. You will hear the recording twice. You now have 25 seconds to read the table below. (5 points)

the age of Christopher, the son

number of days of Christopher’s extravagant life

number of hours of community service for Christopher to practice

christopher’s age at his mother’s first divorce

nlelw )=

number of days Christopher would work on a job

Directions:

You will hear a talk about English dictionaries. For Questions 6 — 10, complete the sentences and answer the

questions while you listen. Use not more than 3 words for each answer. You will hear the recording twice. You now
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have 25 seconds to read the sentences and the questions below. (5 points)

The other name of the first English dictionary is an
Alphabetical Table of
Each word of the first dictionary is followed by

All the dictionaries before the 1750’ s were featured as

In what aspect were the dictionaries greatly improved in
the 1800’ s?
What is one of the most interesting features of the Oxford

Dictionary?

Directions:

You will hear three pieces of recorded material. Before listening to each one, you will have time to read the
questions related to it. While listening , answer each question by choosing [A], [B], [C] or [D]. After listening,
you will have time to check your answers. You will hear each piece once only. (10 points)

. BN [ (4 o BAH BRISaE WRET Uy | (REDE YRUCTIUR T RUNE RN TSR LR NS ST T LB 1 NSy LA TRIIULE P 1 el o i S Ea " o

11. What do the letters in the SQ3R method represent?
[A] A new way to take notes. [BJA short name for the survey reading method.
[C] The five steps in the reading process. [D]Different ways to study for examinations.
12. What does the lecture say about “Reading”, Step Three in the SQ3R method? |
[A] One should think about the ideas while reading the words.
[B] One should always take notes.
[C] One should read only the titles and the important words, not th examples and details.
[D] One should read sequences of words.
13.The SQ3R method snggests that one should review the reading material by __ .
[ A]Remembering the questions one notes down before reading it. .
[B]Trying to answer the questions that one notes down before reading it.
[C]Going over the materials that you have questions on.
[D]Questioning the materials that you have treated carefully

14.How was the assignment given out?
[A]In notes. [B] Verbally. [C] Written on the board. [D] By handouts.
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15. Why can’t the man copy the assignment from the woman?

[A] She has a moral objection. [B] She didn’t write down all of it.
[C] She never takes notes. [D] She remembers it well enough.
16. Why does the man choose the assignment on progress?
[A] He is interested in the subject. [B] He has already written a paper on it.

[C] He doesn’t know anything about it. [D] It is very abstract.

17. According to the passage, which of the following statements is NOT true?
[A] If a student misspells a word in his composition, he will lose 5 points.
[B] Last semester, about 50%of the students enrolled in composition failed the course.
- [C] The composition teacher is very strict.
[D] Both the teacher and students like to follow rules of formality.
18. What will the students do in the composition class on Friday?
[A] They will take one of the six major tests.
[B] They will be given a pop test.
[C] They will be required to read a short story in class.
[D] They will have to write a composition.
19. How does the teacher check whether students have read the assignment?
[A] Students should take some major tests.
[B] Students will be given unannounced quizzes from time to time.
[C] Students are required to write a paper on it.
[D] Students should prepare an oral report on it.
20.0n what will the students’ final grade be based?
[A] 8 major tests and quizzes. '
[B] Eight pop tests and 6 written themes.
[C] Eight major tests ,6 written themes,and pop tests.

[D] an average of 6 major tests, pop teﬁ;s,and 8 written themes.

Now you have 40 seconds to check your answers to Questions 17— 20.

- Section Il Use of English .

¥, : R
i Directions: |

There are 20 blanks in the following passage. For each blank there are four choices marked [A],[B], [C] and
[D]. You should choose the one that best fits into the passage.

Individualism, independence, and self-  21.[Alconsidered [B]thought [Clregarded [D]drawn
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reliance are perhaps the most distinctive American 22.[Alprivate [B]domestic [CJhomely [ D]selfish
characteristics. American“individualism” is 21 a 23.[Alconclusions [B]decisions [C]assignments[D]efforts

good thing. It does not mean being 22 . Each 24. [ Aloccupation [ B] entertainment

person is expected to make 23 for himself or [ Cleducation [D]leisure

herself about all aspects of life: 24, career, and 25.[ Alnuclear [Blsimple [Clcomplex [D]extended
home. The 25 family ( mother, father, and 26.[ Altherefore - [B]whereas [C]lbut [ D]although
children) is an important aspect of American society, 27.[ Alwhat [B]than [Clwhich [D]still

26 usually has much less influence on the 28.[Alinspired [Blnursed [CJobliged  [D]encouraged
behavior of any individual in it 27 is generally 29.[Altaking [Blreleasing [Clyielding  [D]chasing

true in China. Children are 28 from an early age 30.[ A]clothe [B]boil [C]clean [D]heal
to be self— reliant, _ 29  care of their clothes and 31.[AJadminister [B]manage [CJsupervise [D]handle
bedrooms, perhaps helping to cook and 30 ,and 32. [ A]approximately [ B]unusually
to begin thinking for themselves and even learning to [ Clspecifically [ D] especially

31 their own money. Parents provide 33.[Algiven [B]respected [Clstressed  [DJignored
advice and assistance of course, 32 when their 34.[Alexpressions [B]remarks [C]language [D]dialects
children are young, but the importance of the 35.[Al]right [Blproper [Clown [D]useful
individual is _ 33 . This is reflected in American _ 36. [ A]conceiving [ B] contriving

6

34 such as “Think for yourself,” “Do your 35 [ Clcontracting [ D] concentrating

thing,” and “You are the master of your own fate.” 37.[ A]overuse [ B]neglect [C]assume [Dlillustrate
By 36 con — centrating on the individual, 38.[ Almake [Bldraw [Clarrive [D]appeal
American _ 37  a greater personal responsibility for  39.[ Alappeals [Blapplies  [Clcaters [D]averts
the decisions they 38  and the actions they take.  40.[ A]typical [Blcasual [

This principle _ 39  to all aspects of life, including

the family, 40  relation, finances, business, law,

Cleconomic  [D]social

academics, and medicine.

AN NG

, éctmn ]]T Readlpg Co;gprehengm;{

~
Directions:

Read the following four texts. Answer the questions below each text by choosing [A], [B], [C] or [D]. Mark
your answers on ANSWER SHEET 1. (40 points) ’

Text 1—1

ncome divergence helps to explain another kind 41. “Erode” ( Paragraph 1) most probably means
of polarization taking place in the world system, . %
between a zone of peace and a zone of chaos. The [A]wipe away [Blput aside i
regions of the wealthy people show a strengthening [ CJbecome rusty [D]function badly
republican order of economic growth and liberal 42. From Paragraph 3, we leamn that
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tolerance ( except towards immigrants ), with [ A]these world organizations are not doing their work.
technological innovation able to substitute for exhausting [ B]these world organizations mislead the world
natural capital. The regions of the lower — and middle — economy.
income people contain many states whose capacity to [C]it’ s misleading to turn to these organizations for
govern is degenerating or eroding, mainly in Africa, the help.
Middle East, Central Asia, Russia, and parts of East [ D]these organizations are not real international
Asia. Here, a rising proportion of people find their organizations.
access to basic necessities restricted at the same time 43. By the last sentence in Paragraph 1, the author wants
as they see people on television driving Mercedes cars. to show
The result is a lot of unemployed and angry young [ Alpeople limit their life necessities to buy cars
people, to whom new information technologies have [Bleven in poor countries, there are many
given the means to threaten the stability of the societies advertisements for cars on television
they live in and even to threaten social stability in [C]there is a wide gap between the rich countries and
countries of the wealthy zone. Economic growth in these the poor ones
countries often exhausts natural capital and therefore [D]people are willing to sacrifice their life necessities for
future potential. More and more people see migration to cars ‘
the wealthy zone as their only salvation. 44. According to the passage, which of the following is
It is remarkable how unconcerned the World Bank, NOT true?
the IMF and other global organizations are about these [ A]Poverty may threaten the global peace.
trends. The Bank’s World Development Report for 2000 [B]Economy and the social stability are connected.
even said that rising income inequality “shouid not be [ C]Poor countries lack best — performing governments.
seen as negative” if the incomes at the bottom do not [ D] Technological inventions will reduce the consumption

fall and the numbet of people in poverty falls. Such lack of the natural capital in poor countries.
of attention shows that to call these world organizations 45. We can conclude from the passage that

is misleading. They may be world bodies in the sense [A]the world should pay attention to the widening gap
that almost all states are members,® but they think in . between the rich countries and the poor ones.

state — centric rather than global ways. They neglect not * [B]many global organizations are not functioning well
only matters of world income distribution, but also world [Clthe unbalanced world economy will lead to terrible
inflation, world exchange rates, and world interest consequences

rates; and, in the case of the World Bank, the global [ D] economy and social stability are interdependent

environmental issues of the oceans, the atmosphere,
-and nuclear waste.

Text 1-—2

omen’s studies experts have argued the society 46. The word"reciprocal” (Para. 3) probably means .

to pay more attention to mothers, as Mother’s . [ Alinteracting [ B]changeable
Day has been celebrated in a number of countries [ Clintermediate [D]dependable
recently. 47. Which is NOT TRUE according to the passage about
Domestic violence remains the most serious issue the negative effects of domestic violence on children
facing women and children in modern society, according growing up in such families?
to Zhai Yan, assistant to the director of the Beijing — [A] These children are more likely to be violent when

based Women’ s Psychological Counselling Centre. they grow up.
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“Domestic violence and social stability are
reciprocal,” said Zhai. “If intervention for domestic
violence is given in time and is well controlled, social
stability can be upgraded”.

Women and children are considered the most
vulnerable groups in society. Many women have called

_the Maple Women’ s Hotline and appealed to people
from ajl walks of life to create a peaceful social
enviromlnent.

When domestic brutality is not stopped, there will
be immense negative effects on children growing up in
such families, marriages can easily collapse and deaths
may occur. These children have a much higher tendency
to use violence themselves when they become adults,
according to a professor from the East China University
of Politics and Law.

Another relevant problem revealed through the
hotline is that abused women tend to become abusers to
their children, said Zhai. Statistics show women beat
children more often than men do in Cﬁinese families
where there is domestic violence. ‘

In recent years, the increased amount and degree
of domestic violence has largely been due to mental
health problems and changing living conditions during
China’ s economic reform and opening — up drive,
according to the Women’ s studies Institute of China
affiliated with the All — China Women’ s Federation.

After Beijing’ s hosting of the World Women’ s
Congress in 1995, domestic violence became a hot topic
and an issue for lawmakers. Since then, organizations,
centres, workshops and hotlines in cities, provinces
and municipalities have been founded to increase public
awareness and to prevent and stop domestic violence.

“To fight domestic violence is a systematic social
programme that involves attention and watchfulness from
the legislation field, medical services and community
intervention! "said the director of the Women’s Studies
Institute of China.

48.

49.

50.

[B]They are more likely to be punished by their mother
than by their father.

[C]They are likely to have mental problems.

[D]They tend to have an unhappy childhood.

According to the author, how can the problem of

domestic violence be solved?

[A]To improve their living standard.

[B]To maintain social stability.

[C]To keep children away from their abused mothers.

[D]To make laws to stop the problem. ; _

What can NOT be inferred from the passage about the

cause of the increase in domestic violence?

[A] People with problems in mind may account for the
increasing amount of domestic violence.

[B]Poverty contributes to domestic violence.

[C] People lack awareness of the harm of domestic
violence. l

[D]China’s social transformation may be responsible for
the problem.

The author’s purpose is to ‘

[A]look into the problem of domestic violence.

[B] appeal to the society for the care of women and
children

[C]call for an end to domestic violence

[D]make laws to stop domestic violence

Text 1—3

J(J ake a cell, practically any cell, from your body,
and through appropriate biological repairing, you

51. The word “duplicate” ( Paragraph 1) most probably

mean
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can cause it to grow into a duplicate of yourself —— [ Alrepetition [ Bl reproduction

identical from eyelashes to toenails. With this system, [ Climitation [ D]identification

you can neatly reproduce yourself without any partner. 52. What CAN NOT be inferred from.the passage about
Human cloning, it’s called. the cloning technolgy?

A book telling the supposedly true story of a cloned [A]With clone technology, scientists can produce a copy
child caused a small uproar. A group of scientists of someone without the help of an opposite sex.
demanded that the federal government reveal all the [B] Clone technlogy will contribute greatly to re —
studies it has funded on cloning and related field of cell creation of genius.
biology. But some distinguished biologists offered their [C] Clone iechnology will lead to profound changes in
opinion that the book was puré fantasy. people’s view of life.

Yet the cloning story touched a highly sensitive [D] Clone technology has aroused controversy amoﬁg
nerve. People began to realize that we are on the scientists.
threshhold of a new age in the biosciences. Knowledge 53. From Paragraph 5, we can conclude that
of genetic engineering is emerging that allows scientists [Algenes, as well as environment, should be responsible
to tinker with ,and change, the very stuff of life. for a person’s development.

Although cloning people may look simple on paper, [ B]genes alone can never decide a person’s development.
it isn’ t practice. To date scientists have succeeded in [C] we need many things other than genes to clone an
cloning some small animals. But it is still a long way individnal.
from the much more complicated experiment on the [D] we can not expect to create a world full of
carbon copy of human beings. Even when technically distinguished persons by cloning them.
possible, the potential of human cloning challenges our  54. The author’s attitude towards cloning research seems
entire value system. to be

What would happen if human cloning became a [ Alpositive [ B] negative
reality? One favorite expectation is the creation of a [ Cldoubtful [ D] disappointed
new breed of Einsteins. But scientists quickly denied the 55. The best title for the passage would be
possibility. It is more than genetic make-up that makes [A]A Future Era of Einsteins
an individual. A duplicate background——and therefore [B]Stop cloning
a duplicate individual——could never be created. [CIClones: A Milestone in Medical Science

Fortunately, cloning research is not a technique for [D]Human Cloning: A Mere Story?

reproductive purposes, but to cure human diseases.
Already biologists studying the cell "s inner workings and
the various methods of cloning have made exciting
discoveries that may finally lead to breakthroughs in
fighting against cancer. It may also be used to control
the aging process, and conquer presently incurable
human genetic diseases.

Text 1—4

9 espite the excitement generated by its huge 56. According to the passage, Westeners are reluctant to
market, China remains a difficult place for start a business in China because

Western companies to conduct business. The challenges [A]the huge market generates too much excitement and
range from gaining access to the suppliers to securing competition.
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distribution rights. But perhaps the biggest challenge is
assembling an effective team of managers, according to
Fred Foulkes, a researcher conducting a project on
human resource practices in China. For Westerneré in
China, conducting business means attracting and
retaining both expatriate and local management talents.

Foulkes interviewed managers at dozens of
Western companies doing business in China——some
success stories, others not. His research indicates that
Western companies entering China must first pay
attention to the expatriate managers who will oversee
the venture. Successful companies select and nurture
these candidates large
investment of time and money upfront to the risk of an

carefully, preferring a
expensive and embarrassing failure later. One useful
technique: successful companies have intensively
educated their expats in Chinese life and customs before
sending them abroad.

As for what kind of people a company should send
to China, Foulkes observed two characteristics. First,
the best — performing managers in China tended to be
people who already had proved themselves in other
ventures in developing countries ——they were not
necessarily managers with the obvious advantages of
linguistic ability or ethnic ties. In addition, companies
should look for expats who are willing to stay in China
longer than an 18 — to — 24 month overseasstint. The
reason is that the Chinese value stable relationship; and
foreign companies have reaped the benefits of providing
such stability. Expatriates in China also seem to need
more time to become familiar to the local culture.

In order to retain Chinese managers, ventures also
must devise human resource policies that are sensitive
to the ways in vyhich Chinese employees differ from
those in the West. The Chinese emphasis on group
solidarity and saving face, for example, makes public
displays of anger inappropriate, as one expatriates
sales manager found to his regret when he tried to use
the aggressive motivational tactics that had served well
in the West.

“The key to success in China,” concludes Foulkes,
“is thoughtful preparation. A company needs to plan
carefully before setting up shop, especially when it
comes to managing people”.

57

58.

59.

60.

[BJit’s hard to find expats who are willing to stay in China.
[C]it’ s difficult to find a group of best — performing
managers.
[D]it’ s difficult 1o devise human resource policies in
China.
According to Foulkes, what is the most valuable
characteristic of the people a Western company should
send to China?
[A] Knowing Chinese language and having Chinese
relatives.
[B]Loving China and being sensitive to Chinese way of
doing things.
[C] Having the successful working experience in
developing countries.
[D] Having a strong sense of responsibility and
competition.
According to the passage, the most important factor
for Westerner’s successful investment is
[ Algetting suppliers.
[Blfinding those who are willing to stay in China.
[CJintensive training of their employees after setting up
shop.
[ D]thoughtful preparation and the education of
employees.
What can be inferred from the passage?
[A] Some Western companies fail in China because of
their negligence of the Chinese way of doing things.
[B]China values a stable relationship, so job— hopping is
uncommon in China.
[C] Many sales managers sent to work in China once
served in an aggressive war.
[D]Chinese employees like to show their anger publicly.
The best title for the passage would be .
[A]China: A Huge Market For the West
[B]A Key to Successful Investment in China
[C]ldeal Persons To Be Sent to China
[D] The Unique Chinese Character
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Directions:

Read the following text carefully and then translate the underlined segments into Chinese. (10 points)

Genetically-modified foodstuffs are here to stay. That’s not to say that food produced by conventional agriculture
will disappear, but simply that food-buying patterns will polarise: there will be a niche market for conventional
foodstuffs just as there is for organic food.

61)It may even be that GM food will become the food of preference because consumers come to appreciate the
health benefits of reduced pesticide use.

62)To see the advantages of GM food you have only to consider the reoént press revelation that the average

cabbage receives eleven pesticide applications before it reaches the supermarket shelf. 63)1’m sure chemicals and
their role in disease will become a big issue in the next century as the population of the developed world worries

increasingly about its health. .

It may well be that in the long term it is the developing world that benefits most from GM foods. It’s true that for
the next ten years or so GM crops may be too expensive.

64)But the lesson of personal computers is applicable here—once the technology has been developed for money-
making crops, like maize, soya beans and cotton, it will gradually become affordable for all.

65) This doesn’t mean, unfortunately, that famines will disappear, but severity and duration will be helped by an
improved ability to produce and distribute food.

As we move into this new era of agriculture we’ re embarking on an experiment. But remember that the world has

seen any number of experiments before. No doubt there will be some mistakes with GM crops too. But then mankind
has always made mistakes. It shouldn’t put us off progress.
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\ Sectlon IY Wﬁting A

Directions: .
A. Study the following graph which shows the different modes of transport used to and from work in one European
city, in 1950, 1970 and 1990, and write an essay of about 200 words.
B. Your essay must be written clearly on the Answer Sheet .
C. Your essay should cover all the information provided and follow the instructions below :
1. Describe the graph .
2. Explain the facts and give your own comments
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X Words and Expressions for reference 2
§ )
g decrease, prominently, increase by leaps and bounds, ;;

« contribute to popularity,cut down,significantly,enable, >
»
« better off,afford, private car,make possible,way of life, ;;

b move about, man-powered, sufficient, forsee. »
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